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2. 58w 19,067 5,532 13,535 (8 HE2TILAN ¢ 8,84090x26%+102] 2,299,000
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1. W89 5,210] 20,900, 15,690 AFEAIAFE(S2) : -500,0009)18t]%23] = -18,000, 000
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1.8 B2 m) 6,500 2,000 4,500 gjﬁ—ﬁ)%%%%?ﬂ ' 225,000€+10 4,500,000
=403
3. (2N B AT =ITHeY 2,200 2,200 0
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] =) A H] : o152 x5
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2. AR Y 14,003 12,183 1,820
121 aAg R« 11,688 9,868 1,820
1. 088930 9,518 6,268 3,250 HFEEAH S 24 1 300,0009#53] = 1,500,000
WHFEEYF ¢ 250,0008#33] = 750,000
AT ETS 1 250,00090#43] = 1,000,000
2. H]ZEFelH] 1,070 3,600 -2,530 | AFE T -1,265,0009%23] = -2,530,000
3. 71EpAA ] 5] 1,100 0 1,100 &2ZE o]+ : 55,0009%203] = 1,100,000
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2. 48 RE 5,400 5,400 0
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